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Area — the space nside a 2D object

Composite - A figure
more thaw ove of the

Perimeter - length around the outside of a 2D object
Radius - a straight line from the cewtre of the circle o its

circumference

Diameter — a straight live through the cewtre of the circle,

GSV shape) that can be divided into
asic figures

touching both sides’of its circumference

Circumference — the distance (perimeter) around the

ontside of a circle

Chord — a straight line through a circle, touchivg the

circumference

Sector - a part of the circle enclosed by two radii and an arc
Pi (1r) - the ratio of a circle's circumference +o its diameter

Hypotenuse - the Iovn@@sﬁr side of a right-avgled triangle,

opposite the right angle

Prisim - a solid 2D shape with two idewtical (congruewt)

ends and flat faces
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How 1o get 7 symbol on the.
caleulator

It is important to round your answer sutably — Lo significant. figures or
decimal places. This will ave you a decimal solution that. wil go on forever!
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Feod the question — kave n
terms of mor if =3 [provides
on estmate. for arswers)
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Vobme s the. 3D space it {akes up — ako |
known g capacty if using s to fil the |

space. |
Courtting cubes
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Coloudate panimatena. o 20 ahopes, inclinding cinclea
Coleulote aneon of cinclea and. compeaite ahopea
Know the. gotmulog
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Volume of prisms = Area of

cross section x depth

Some. 3D shape vobmes con be
calculated by countig the. rumber of
cupes that il inside the shape

[ Cubes/ Cubors = base x widh x height ]

1 | Cross section

Remember mutipication § commutative

7

Cross seclion 2

Prisms and cyinders J
= area cross section x height

Height can ako be. described as depth
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| The. direztion you are. considenng the shape. from
1 determines the front and side viewss

Volume =
Il xw xd
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Volume =
nir? X depth

1
Ebase X p.height X d

mr?

Area of sewmi-circle =
(mr?) + 2

1) Split the composite shape into
recoomisable shapes
2) Find the area of each simaller shape

2)  Add these areas together +o find

Area of dquarter-circle =
(mr?) + 4

]

Area of trapezinm

Area of triavale =
Y4 base x pheight

the total

Area of rcc-quls/sqmr@ =
lengyth x width

Area:%(a+b) X h

Area of parallelogram =
base x pheight

Ths is commutative — the
square of the hypotenuse &
equal to the sum of the
squares of the two shorter
shks

Places o ook ot for Puthasores
Peipendculr heights n soscees
lranges
Diggongs on rnent argled shapes
- D=lance belween coordrates
- Ony kngth made from a right angles




